MCP by MCP AB_Correction,
Beam AOA®

&
LUT Prism-lens X & Y optimization




LUT Prism-lens X &Y
optimization

LUT optimization
X step= 67 mm

Y step=14.7 mm
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P AO

C correction

MCP by MCP A6 P [mrad]
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T AO

C correction

Polar angle [degree]

MCP number




P AO -t AB

C correction C correction
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MCP projection (all angles)
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Polar angle projection (all PMT’s)
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0. Mean Value

Mean P data with mcp by mcp 8, correction for P 20
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Bc SPR

SPR P data with mcp by mep 6, correction for P 20
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6c SPR all angles

SPR P data with mcp by mep 6, correction SPR = data with mcp by mcp ec correction for P
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Conclusion & Outlook

* No significant difference between:

PAO and tAD

c correction C correction

Next Steps:

* Apply AB and Beam A8 A¢

correction

C correction




